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Question 1
Question Type: MultipleChoice

Which port and protocol is used by NTP to communicate?

Options: 
A- TCP port 123 for both the source and destination

B- TCP port 123 for the source and TCP port 80 for the destination

C- UDP port 123 for both the source and destination

D- UDP port 123 for the source and TCP port 80 for the destination

Answer: 
C

Question 2
Question Type: MultipleChoice



What is the valid range assigned to a client during a TCP connection?

Options: 
A- 20 - 25

B- 443 - 1000

C- 1023 - 2024

D- 40000 - 65535

Answer: 
D

Question 3
Question Type: MultipleChoice

Which option is used to configure Network Address Translation (NAT) to provide one-to-one mapping between local and global

addresses?



Options: 
A- Outside source static

B- Overload

C- Inside source static

D- PAT

Answer: 
C

Question 4
Question Type: MultipleChoice

Which topology is considered a best practice when stacking switches?

Options: 
A- Ring



B- Cascade

C- Serial

D- Daisy-chain

Answer: 
A

Question 5
Question Type: MultipleChoice

What are Network Address Translation (NAT) inside global addresses?

Options: 
A- Addresses used by NAT router when sending frames to devices on the local network

B- Public IP addresses used by the local network to communicate with the Internet

C- Private IP addresses used by the local network

D- Pubic addresses used by other networks outside of the local network



Answer: 
B

Question 6
Question Type: MultipleChoice

How is a switch different from a hub?

Options: 
A- A switch operates at a lower, more efficient layer of the OSI model.

B- A switch tracks MAC addresses of all connected devices.

C- A switch decreases the number of broadcast storms.

D- A switch does not include any latency into the frame transfer time.

Answer: 
B



Question 7
Question Type: MultipleChoice

On Switch A, a static route has been redistributed into OSPF. Which type of OSPF router will this process make Switch A?

Options: 
A- Autonomous System Boundary Router (ASBR)

B- Designated router (DR)

C- Area Border Router (ABR)

D- Backbone Router (BR)

Answer: 
A

Question 8
Question Type: MultipleChoice



Which Ethernet frame forwarding method works best when the outbound ports run at the same speed as the inbound port?

Options: 
A- Store-and-forward

B- Fragment-free

C- Unicast

D- Cut-through

Answer: 
D

Question 9
Question Type: MultipleChoice

Which IPv4 address is in the same network as the IP address 182.15.24.40/23 and assignable to a host device?



Options: 
A- 182.15.23.224

B- 182.15.25.0

C- 182.15.25.255

D- 182.15.26.10

Answer: 
B
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